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QUESTION 1

If you are concerned about a high level of compression but not concerned about any possible data loss, what type of
compression would you use?

A. Lossful compression

B. Lossy compression

C. Lossless compression
D. Time-loss compression

Correct Answer: B

QUESTION 2

Which forensic investigating concept trails the whole incident from how the attack began to how the victim was
affected?

A. Point-to-point

B. End-to-end

C. Thorough

D. Complete event analysis

Correct Answer: B

QUESTION 3

To calculate the number of bytes on a disk, the formula is: CHS**

A. number of circles x number of halves x number of sides x 512 bytes per sector

B. number of cylinders x number of halves x number of shims x 512 bytes per sector
C. number of cells x number of heads x number of sides x 512 bytes per sector

D. number of cylinders x number of heads x number of sides x 512 bytes per sector

Correct Answer: D

QUESTION 4
The offset in a hexadecimal code is:

A. The 0x at the beginning of the code
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B. The Ox at the end of the code
C. The first byte after the colon
D. The last byte after the colon

Correct Answer: A

QUESTION 5

BMP (Bitmap) is a standard file format for computers running the Windows operating system. BMP images can range
from black and white (1 bit per pixel) up to 24 bit color (16.7 million colors). Each bitmap file contains header, the
RGBQUAD array, information header, and image data. Which of the following element specifies the dimensions,
compression type, and color format for the bitmap?

A. Header

B. The RGBQUAD array

C. Information header

D. Image data

Correct Answer: B
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